-*"X—P[—Flgf—ﬁ

3X+?_3:=)

— 4 + Le =9

¢ -+ L@ =|
4=\Jg=7_ | + 4(2)=# 49

tALSE



J)D“L)vx,c;iﬁiaw Xkl (R %, Ry

WP (— %ty =11)
L\*Qj\"ur'v» /J—R/UE'_J

3 else .
e v TALSE:



Jf‘Uwo‘['t_ovx) ‘6-‘5\((2?(, “26)
Y0 0-9) L

FQ/'\—U . \ UEJ'

Y elve (.
v TALE:



Frad (v )
—X+|+\6 c\ (U( V) and

/‘SX_P?"QLL (%,y e

1

’Dﬂw‘\’ Y ( ’J\DQ,Q/
(Eu (‘fM>



Solving Linear Systems:

If x and y satisfy

then x and y also satisfy
and vice versa

then x and y also satisfy
and vice versa

then x and y also satisfy
and vice versa

then x and y also satisfy
and vice versa



